, , , Jel | db | Szelvény Hossz | Tomeg | Tomeg | Ossztomeg Jel | db | Szelvény Hossz | Tomeg | Tomeg | Ossztomeg
RACSOSTARTO SZERKEZETI VAZA M=1:50 [mm] [kg\m] | [kg\db] [kg\jel] [mm] [kg\m] | [kg\db] [ke\jel]
L 4 | L 80x80/10 10372 11,9 123,43 493,72 XIL. 1 |»= 170x10 210 13,35 2,80 2,80
IL 4 L 60x60/6 9940 5,42 53,87 215,48 XIL | 1 |+=~ 190x10 300 14,92 4,48 4,48
1. 4 L 50x50/6 1045 4,47 4,67 18,68 XIV. | 2 |~ 190x10 260 14,92 3,88 7,76
5508 2508 2508 2508 IV. 4 L 50x50/6 1410 4,47 6,:%0 25,20 XV. 1 |~ 215x10 720 16,88 12,15 12,15
1508 2508 v. | 4 | L5ox50/6 | 1550 | 447 6,93 27,72 XVL | 2 |-+ 180x10 | 190 1413 | 2,68 536
o VL 4 L 50x50/6 1570 4,47 7,?2 28,08 XVIL | 4 |+ 36x10 390 2,82 1,10 4,40
g N, & &, N VIL | 4 | L50x50/6 | 1720 | 447 | 7,69 30,76 ||xviL| 2 [m= 170x10 | 280 | 1335 | 3,74 748
1 1250 2500 2500 2500 2500 2500 2500 VIIL | 4 | L50x50/6 | 1740 | 447 | 7,78 3,12 || XIX. | 1 |= 170x10 | 300 | 1335 | 4,01 4,01
IX. | 4 | L50x50/6 1890 4,47 8,45 33,80 XX, | 1 |P4 170x10 350 13,35 4,67 4,67
X. 4 L 50x50/6 1910 4,47 8,54 34,16 XXI. | 1 |»= 90x10 110 7,07 0,78 0,78
XL | 4 | L50x50/6 | 2070 | 447 9,25 37,00 XXIL | 8 [+ 100x10 | 150 7,85 1,18 9,40
Ossztomeg:  [kg] 975,72 XXIL| 1 |»= 190x14 280 20,88 5,85 5,85
XXIV.| 1 |=+ 190x14 280 20,88 5,85 5,85
. r XXV. | 96 |- 50x14 50 3,93 0,20 19,20
FELULNEZET M=1:15 Ossztomog kel 5419
Ossztomeg:  [kg] 1069,91
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